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1. LetA=1{a,b,c,1,2,3} and B = {c, d, 1, 3}, what are the answers for the
following questions:

a. ANB
b 1A
c. IsA €B?

2. Please use mathematical induction to prove 2™ > m for all natural numbers, m
withm =1.

3. Please write an algorithm that takes a sequence of real numbers, x;, Xz, ...,Xa and
returns the value of the average of these numbers.

4. A foreman has a team of 15 workers. He needs 5 of them to unload a truck full of
bricks, 3 to start mixing cement, and 4 to clean up yesterday’s mess. In how many
ways can he create the work groups?

5. Suppose that P(A) = 0.3, P(B) = 0.6 and P(A|B) = 0.4, please calculate P(A M B)
and P(BIA).

6. Please write a recursive algorithm to compute the summation of 1, 2, .. n with the
formulaof =" 4k =n+ Z" k.

7. Determine whether 1011 belongs to each of these regular sets:

a. 101" b.0'(10 L 1)

8. Please explain what a strongly connected graph is.

9. Please build a binary search tree using the following values in a left-to-right order:
dfcabtwrs.

10. Find the domain and range of these functions:
a. the function that assigns each pair of integers to the maximum of these two
integers
b. the function that assigns each set of integers to the maximum of these integers




